pneuparts

.COMm

Pneumatic cylinders and drives

Air motors

Basic air motors 4, 8,16, 32 Nm

Control ring

Control shaft

Cylinder disc

7

7
P//// N2
W~/

\

Working pistons

Feed roller

Housing curve

Equipotential bonding

Housing vent M4
M5 '

Control shaft

Adapter fastening
M4 ]

2x air connection M6x0,75/R1/8 7
for fresh and exhaust air '
alterating for right hand and left hand rotation

Pneuparts.com BTW: NL8209.12.931B01
Florijn 10 b/c Phone: +31 (0)493 763 993 KvK: 17126382
5751 PC Deurne info@pneuparts.com Swift: RABONL24

Nederland www.pneuparts.com IBAN: NL23RABO01036.31240



Dimensions:

with mounting flange:

¢z2

=

d1

L1

L3

L2

with mounting angle:

L21

L22

arts

.COMm

L [
77, Hﬁgz L17 d15 415
L10 Al L11 a e L1ﬁ19 L I i ] ﬂ
R L3 i L3 L12
d1 | d2 d3 d4 d5 d6 | d7 | d8 | d9| d10 | d11 | d12 | d13 | d14 | d15
BM4 99 | 14n6 | M4x12 | Mex0,75x8 | Max9 | 67 | 55h6 | 40 | 28 | M5x5 | 87 | 54 | 110 | 120 | 5
BMS 99 | 14n6 | M4x12 | M6x0,75x8 | M4x9 | 67 | 55h6 | 40 | 28 | M5x5 | 87 | 54 | 110 | 120 | 5
BM16 159 | 19h6 | M6x18 | R1/8x9 | M6x10 | 115 | 95h6 | 50 | 35 | M5x5 | 140 | 85 | 180 | 199 | 7
BM32 159 | 19h6 | M6x18 | R1/8x9 | M6x10 | 115 | 95h6 | 50 | 35 | M5x5 | 140 | 85 | 180 | 199 | 7
BM72 159 | 19h6 | M6x18 | R1/8x9 | M6x10 | 115 | 95h6 | 50 | 35 | M5x5 | 140 | 85 | 180 | 199 | 7
L1 | L2 | L3 | L4 |L1vAa|L2va | L3VvA L5 | L6 | L7 |Ls|Lo|L10|L11|L12 ]| L13 | L14
BM4 78 | 52 | 51 | 3 81 55 535 | 18 | 16 | 5N9 | 11 | 25 | 12 | 39 | 99 | 89 5
BM8 93 | 67 | 65 | 3 | 955 | 695 68 | 18 | 16 | 5N9 | 11 | 25 | 12 | 54 | 99 | 89 5
BM16 111 | 70 | 68 | 5 | 115 74 715 | 28 | 22 | 6N9 | 15 | 40 | 13 | 55 | 159 | 140 | 95
BM32 133 | 92 | 90 | 5 | 137 9 935 | 28 | 22 | 6N9 | 15 | 40 | 13 | 77 | 159 | 140 | 95
BM72 194 | 153 | 151 | 5 | 198 157 1545 | 28 | 22 | 6N9 | 15| 40| 13 | 138 | 150 | 140 | 95
L15 | L16 | L17 |L18] L19 | L20 | L21 |L22|L23| L24 |w1|w2]| w3
BM4 40 | 15 | 10 | 37 | 50 05 10 58 | 6 | 4N9 | 45° | 90° | 45°
=Rk 40 | 15 | 10 | 37 | 50 05 10 | 58 | 6 | 4aN9 | 45° | 90° | 45°
BM16 55 | 16 | 15 | 48 | 67 05 12 90 | 7 | 5N9 | 45° | 90° | 45°
[Ef 55 | 16 | 15 | 48 | 7 05 12 | 90 | 7 | 5N9 |45 | 90° | 45°
BM72 55 | 16 | 15 | 48 | 67 05 12 90 | 7 | 5N9 | 45°| 90° | 45°
Pneuparts.com BTW: NL8209.12.931B01

Florijn 10 b/c

5751 PC Deurne

Nederland

Phone: +31 (0)493 763 993
info@pneuparts.com
www.pneuparts.com

KvK: 17126382
Swift: RABONL24
IBAN: NL23RABO01036.31240



pneuparts

.COMm

si L1JL2fL3afemfLtLa[LafL
lze 31| 31 [ 3131|9191 91|91
transmission
BM4 120 | 94 [ 93 [ 81 [104 | 78 | 77 | 65
BMS 135|109 | 107 | 96 [ 119 | 93 | 91 | 80
BM16 161 | 120 | 118 [ 105 [ 137 | 96 | 94 | 81
BM32 183 | 142 [ 140 [ 127 | 159 | 118 | 116 | 103
BM72 244 [ 203 [ 201 | 188 [ 220 [ 179 | 177 | 164
Without gear Reduction ratio 3 : 1 Reduction ratio 9:1 Reduction ratio 1:2
n min n max n min n max n min n max Al A
= 30 rpm =300 rpm = 10 rpm =100 rpm = 3,3 rpm =33 rpm = 60 rpm = 600 rpm
BM4 4 Nm)| 2 Nm| 12 Nm| 6 Nm)| 36 Nm 18 Nm 2 Nm 1 Nm|
BM8 8 Nm| 3Nm 24 Nm| 9 Nm| 72 Nm| 27 Nm 4 Nm 1,5 NM
BM16 16 Nm 2Nm 48 Nm 6 Nm 144 Nm 18 Nm 8 Nm 1 Nm
BM32 32 Nm 3 Nm 96 Nm 9 Nm 288 Nm| 27 Nm 16 Nm 1,5 Nm
BM72 64 Nm 6 Nm 194 Nm 19 Nm 576 Nm| 54 Nm 32 Nm 3Nm
max. radial radial max. \weights
allowed dyn. C stat. Co llowed \without with with with
laxial loading radial loading gear 3:1 gear 9:1 gear 1:2 gear
2.00 Kg 2.80 Kg 2.10 Kg
BM4 100 N 750 N 400 N 5Nm 1.10 Kg
2.20 Kg 3.00 Kg 2.30 Kg
BM8 100 N 750 N 400 N 5Nm 1.30 Kg
6.10 Kg 7.90 Kg 5.90 Kg
BM16 200 N 1500 N 800 N 10 Nm 3.40 Kg
BM32 6.70 Kg 8.50 Kg 6.50 Kg
200 N 1500 N 800 N 10 Nm 4.00 Kg
9.10 Kg 10.90 Kg 8.90 Kg
BM72 200 N 1500 N 800 N 10 Nm 6.40 Kg
Pneuparts.com BTW: NL8209.12.931B01

Florijn 10 b/c
5751 PC Deurne
Nederland

Phone: +31 (0)493 763 993

info@pneuparts.com
www.pneuparts.com

KvK: 17126382
Swift: RABONL24
IBAN: NL23RABO01036.31240



	Naamloos
	Lege pagina
	Lege pagina



